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Duration: 2 Hrs. Maximum Marks: 50

Instructions as per subject:

DAIl questions are compulsory.
2)Figures to the right indicate marks.

Q1. Write short notes: (ANY FOUR) (4Xd=16)
~3 I Business F'inance v/s Corporate Finance.
2. Objectives of Financial Plan. (Any Four Points)
3. Long Term Financial Plan.
4. Classification of Capital.
5. Sources of Working Capital requirement, (Any Four Points)
0. Advantages of Adequate Fixed Capital. (Any Four Points)
Q2. Answer the following Question: (ANY IFOUR) (4X4=16)
A. Eaming theory of Capitalisation.
B. Causes of Over Capilatisations. (Any Four)

- Advantages of well Balanced Capital Structure. (Any Four)

C
D. Limitations of Trading on Equity. (Any Four)
E

. Methods of Financing used by specialised Financial Institution.

F. Financial Functions of IDBI

Q3. 1. Explain features of Business Finance. (12)
OR

Q3. A. Explain Characteristics of a Good Financial Plan used in a Company. (12)

Q4.1. What are the factors determining Fixed Capital requirement? (12)
: OR

Q4.A. Explain Different types of Working Capital used in a Business. (12)

Q5. 1. Explain Cost theory of Capitalisation and its Merits. (12)

OR



the Company, Shurchnldcr

Q5.A. What are the consequences of Under-Capitalisation or ang
Employees. (12)
Q6.1. Explain the features of Good Capital Structure. (12)
OR
Q6.A. Explain objectives of Economic Development Co-operation. (12)
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“tructions:
I Answer All the Questions.
2 The marks are indicated at the right side of the corresponding question.
3. Secrion I is compulsory and all questions need to be attempted.
4. Sec I consists internal choicescarrying 10 marks each.
Please read the question paper carefully and in case of any discrepancy,

mins of the commencement of the examination.

ask to replace it within 15

12

SECTION 1

I. Answer all the question

A. Fill in the Blanks

The Costing method, where comparisons are made between the actual productions with o

predelimed Timitis otherwise called as

—~ i Marginal Cost can be otherwise called as
i The point of no profit and no loss is known as
iv. - accounting considers both qualitative and quantitative inputs.
V. consists the summary of all the budgets putting together.

3. Find the right option from the following Multiple Choice Questions.

(5x1=3)

In short run, which among the following can be followed as a pricing strategy as a last resort?

I
A MC < Price C. MC <Price
L, g
v . . R Ly Goval ., "™
B. MC > Price D. MC > Price /’ g G S
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A Fived Cost Profit CNales Fived Cosy 3 Yoy, M b agun 1y COMSES
B Sales «Variable Cost Do Variable Cost v Profin
i Considering all the cost for production, the per unit cost will i the number of units vo up.
A lall (- Rise
I Goneoarive D Remain constant LFrCspective of any output
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v, P/V Ratio is otherwise known as:
N T *Reatio
A Present Falue Ratio . Profit Value
oo Variali Catio

B Profit Volume Ratio D. Price Variation Rat

Voo Which of the following shows pure profit fora finm’

’ ¢ Nsin of Salene
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Y o : 2X5=
Write Short Notes on the Following: (2x5= 10

I Sales Budget
. Flexible Budget
i, Uses of Break Even Analysis
V. Contribution in Marginal Cost Analysis
V. Material Price Variance
SECTION 11
i Differentiate between Financial Accounting and Management Accounting (5 Marks)

1. From the li»”u\ving inlinln.‘llinn, calcnlare the amonn ol profi NI nreinal Cost e himgue:
Fixed cost Rs. 3,00,000
Variable cost per unit Rs. S

Selling price per unit Rs. 10

Output leve] 1,00,000 units (5 Marks)
OR
1ii. Determine the fixed Expenses when Sales= 2,40,000; Direct Materials= 80,000; Direct Labour= 50,000,
Variable Ovcrheads-:Z0,000 and Profit= 50,000. (5 Marks)
iv. Differentiate between Marginal Costing and Slandm'dCOSIing (5 Marks)

Xlad. Isa recently formed company manufacturing vehicles, Jig coststructure s sycly that on sale of every

Rs.2.000, it spends, RS 1400/- In 2015, when the total sales revenue wag Rs.10.00 000/, it sustained loss of R

2,00,000/ -, You are required 1o compute the break cye, PO 1 e Minimuon, NCLProdin 1o be carmed is

Rs.2,00.000/- in order toJustity the survival, wh Must be syley revenuge 2 (10 Matks)

OR
What do you understand by the Break Lven Analysis? EXplain the Bt -
’ ’ C Pk ¢ Break evey Analysis with an appropriale
©ONRIYSIS with an appropric
diacrammatic representation,

(10 Marks)



S ABC I produces Taptops for commercial sales purpose. The average quantity ol it rials per month happens
to be S0 units. Due 1o Diwali season, the company produced 70 units and the materials are pro ured accordingly
All the laptops were sold and the standard material cost is calculated as Rs. 3000 per Laptop, while for this special
order the costineurred is Rs. 3200 per unit. Caleulate the Material Price Variance and Material Quantity Variance
(5 Marks)

i Wae an Eaplanatory note on the Fabour Price Varancee and | abour FIhciency Vi (5 Motk

OR

ii. A Manufacturing company submits the following details of a product for the first quarter of 2019:

Sales in Units: January 50,000
February 40,000
March 60,000

Target of the 1 quarter of 2020 is to increase sales quantity by 20% and there is an estimated increase in

the sales price at 10%. Selling price per unit is fixed at Rs. 100. Prepare sales budget for the first quarter
5 Marks)

—_

) of 2020.

iv. Write an explanatory note on Production Budget and Direct Material Budget

5 Marks)

—
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BCA Semester End Examination

Communication & Presentation Skills BCA307

Semester: 111

Duration: 02 Hrs.

Instructions:
* Figures to the right indicate maximum marks allotted
*  Provide sufficient margin space in the answer-book Jor recording marks.
*  Enter the appropriate main & sub-question numbers in the answer-book

Q1.A] Fillin the blanks with the appropriate terms. [05 Marks]

. The word communication is derived from the Latin word
The idea or impulse for communication must arise in the mind of the
The response sent by the receiver to the sender is called

. One barrier to effective communication is
Decoding is the responsibility of

moow >

Q1.B] Fill in the blanks with the appropriate terms |03 Marks]

A. When the door between the worker and manager is kept open (for the sake of
communication) it is called
B. When there is common agreement ol opinion among a group of persons it is known as

C. Misinformation and rumours can be spread through -
D. When the supervisor does not talk enough, does not give enough instructions and leaves
the workers guessing itis called

E. communication is used to inform subordinates about their performance,

explain policies etc.

Q2} Answer any one of the following [ 10 marks|

A. How can we make face-1o-face oral communication effective?



B. Can audio-visual tools like Graphs/Maps/( Tharts/Videos cte. enhance org|
communication? 1low?

Q3] Write a detailed note on any two of the following [5x2=10 Marks|
AL Appraisal Interview.
B, Grievance Interview.
Co Group Interview

Q4] Answer any one of the following [10 Marks]

A. What are some of the dis

advantages of a job selection interview?
B. How

should an interviewer prepare himself for a recruitment interview?

Q3] Answer any one of the following. [10 Marks)

A. How can we make a prese

ntation more interactive?
B.

List and bricfly explain five Strategies that can be used to deliver a ereat presentation?
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Instructions:

1. All questions are compulsory.

2. Figures to the right indicate maximum marks allotted.
3. Start each new question on a fresh page.
4

Enter the appropriate main and sub-question numbers in the answer book.

Ql.
A. Select the Correct Option and Rewrite the Statement:-

1. Building=>Campus, so Campus is the for building.
a. Dependent
b. Determinant
¢. Multi-Dependent

2. Inan E-R diagram entities are represented by
a. Rectangle
b. Ellipse
c. Trangle

The RDBMS terminology for a row is
a. Tuple.
b. Relation.
c. Attribute

(OS]
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4. Which database level is closest to the users? e
a. External
b. Physical
c. Conceptual

5. BCNF stands for
a. Boyce Codd normal form
. b. BinaryCodd normal form
¢. Beyonce Codd normal form

SN



£ AEr ™

y
>.

> (\)
Define the followinge:
I Null Constramt
Candidate Koy
Voo Derived Attribute
4 Cardimahty
5. Weak Entity
. . . 0)
Answer the following questions:- (10)
a. Discuss the role of DBA in database management system. (2)
b. Whatis DDL? List any 4 statements provided by DDL to manipulate the
(3)

Q3.

0O4.

objects in database.
Xo With the help of a neat diagram, explain the 3-tier Database architecture (5)
OR

Y. With the help of a diagram, explain and discuss the usage ol the data models

given below:- (5)
i Hicrarchical
1. Nctwork
Answer the following questions:- ()
List and explain any 2 DML statements. (2)
What are Data Modcls? 1ist any four data models. (3)
List and discuss the ACID propertics of transaction. (5)

OR

With-helpeof an example explain Inscrtion and Update Anomaly on Database, (5)

/\‘nswcr the following questions:- (1)
Explain Read Operation in Transaction. (2)
Explain Referential Inteerity Constraint with the help ofexample. (3)
Write short notes on the following;- (5

1. Multimedia Database
1. Mobile Database

OR

What is Normalization? Explain 2NF wih the help of ap CXample

,—
N
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03 Answer the following questions: (1h)
a. Stateand explam any 2 advantages ol DBMS, (2)
b Given R (A, B, C, G, L 1), The following set F of functional dependencics holds

A2B  A>C  CGOH CG>1  B>H (3)
1. Compute AG 1.
", Is AG a candidate key?

X.  YAHOO-an IT company, undertakes various types of projects. The company has
many employees. Each employee has a designation and belongs to atleast onc
department. The company allows each employee to work on more than one
project. Considering the above information, identify and write the entities.
Attributes, relationships and types of keys involved for YAHOO Company and
then draw the ER diagram. (5)

OR
y. Write short notes on following:- (3)
1. Data Mining
1. Data Warchousing
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